101. Among the following statements which of them is/are found to be wrong?

1.  Ironis highly malleable and ductile.

2. Gold is highly malleable and ductile.

3. Lithium 1s the Lightest metal.

(A) 2and3 (B) 1only
(C) Z2only (D) 1,2and3

Spsangmid sapmsetle) 6181/ eTeneu HeuDTen FaDm <Etb?
L gmby Cwsiellu garseyb, Gudedlu sblurseyl wrHDHemg LS.

2. smswb dwadlu e s, Quadu sblurs LTHDEs gL 2 GarsLd.
3. dlgdund eanug) g G)Casrer 2 Gansin

(A) 2 opgd 3 /ﬂﬁ 1 wi_{Hib

(CYy 2wl D) 1,2 wpmo 3

102. Match the List I with List IT correctly and select your answer using the codes given below

List I - State List IT — Tourist Centre

(a) Andhrapradesh 1. Ajantha, Ellora
(b Jharkhand 2. Chithana Vasal
(¢) Maharashtra 3. Chandrapura Birds Sanctuary
() Tamilnadu 4, Goleonda Fort
Codes :
(a) (b) () (d)
(A) 2 4 1 3
(B) 4 3 2 1
2o 4 3 1 2
(D) 3 2 4 1
ulaguwied [- ulgue -2 6 Qurmpsd &Gy Gar@ssuulfearar @duliBemens Qarar® sfwmen
ellan_anuig Canbbis(
L igied [ — mmblen ulgwea I — sampperggeon
(1) =5s70 drGsan 1. S12H&T, ey Coomym
(b)  amnnsen 2. &gt 61 GoT 611 TeF G0
(¢)  ETTNGpY T 3. FHATYIMN LMEDE) FrarmaiD
(d) sOEsTEH 4. CandGanarr Gam enu
@;{?lﬁ@&dr :
(a) (b) (¢) (d)
(A) 2 4 1 3
(B) 4 3 2 1
)91’ 4 3 1 2
(D) 3 2 4 1
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103. Match List I with List Il correctly and sclect your answer using codes given below.

List 1 List IL
{a) Roentgen 1. Swimming rule
(b)  Henry Bequrel 2. Nuclear fission
(¢} Ottohaun 3. X-rays
(d) Ampere 4. Radiation

(a) (b) (c) (d)

(A) 1 2 3 4
B) 4 3 1 2
/65 3 4 2 1
(D) 2 3 1 1
'
vlgws g ulqwea H-o e Qui@sd Spssan_ Giut@emad Qaran® sflurean edeoL enws
Goip 056,
ulgwey | Ul uisd 11
(a)  gredm g 1. fegd o
(b) Gaped Gustasnyd 2. gmdem daay
(©) . GLmammen 3. X-asdlrger
(d) =gl 4. adNuidan
(a) (b) (c) (d)
(A) 1 2 3 4
(B) 4 3 1 2
(C) 3 4 2 1
(D) 2 3 4 1
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104. Which one of the following is correctly matched?

(A) Troposphere (iy  ions are found

(B) Stratosphere (i) conducive for airplanes to fly

(C) Mesosphere (111} weather patterns

(D) Thermosphere (iv) protects the earth from falling meteors

&1p Garhssuul Lameasello ergy eflwns Qurgnndujareng ?

(A)  CCrmuQumeiSlurm 1) wailser o draren
ﬁ' auC_rGL_menRua (1) eSlwnerbiset Causoms LDLUSHE 65HD
FTgHS DT GphHlene
(Cy  flGevneuGun (11}  eumaflenay Blapays
(D) QartinnaiShwon (iv)  yseSlesw efletmranmated osha) LTgIsnLg

105. Assertion (A) @ Lightning flash is scen first and thunder sound is heard next.
Reason (R)  : Light travels million times faster than sound.
(A)  Both (A) and (R) are truc and (R) is the correct explanation of (A)
(B} Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(C)  {A)1s true but (R) 1s falsc
(DY {A)is false but {R) is truce
gty (A) o Wbleeman senTamish@ Gailhg WenenGry @Lq_.uglétﬂ FUgm Caldmg).
srgenid (R) @ epefliunmengy eellepws el Wevabliwen ik 28lGeusnral uwenmd GFlding.
W {A) womid (R) M wpmw (R) eremugy (A)-edli@, sfhwren eflergmn

(B (A wig™ (R) shl womid (R) erémiig (A)- 6l @ sMwuren eflerdsib <ebe

(€ (A) afl cpemmed (R) g6:5
(D) (A) meumy spenmed (R) il
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106. Select the appropriate pairs of words :
{a) Cutting — Hibiscus
(hy T.ayering — Jasmine
{¢) Grafting - Mango
(d) Yeast— Fragmentation
{e) Comdia — Mucor

/@()‘ {a), (b), {c) - correct (BY (b, (@, (d), () - correct
() {e), (d), (¢) - correct Ty (a), (), (o), (d) - correct

@) s S i RELEE
by  LAws Cunfsd - wadams

(© L0 CurPgd -«

(&) e — gamrEd

(¢) Quanetlgun  SlupsEsi

(A (a), (b), (c) = (B) (b, (), (d}, (e) — Al
(@) (@), (d), ()~ & (D) (a), (), (e}, (d) — ol

107. The electirical appliances of our home are all connected in a circuit.

Ag)r parallel (B) series

(C) either parallel or series (D) parallel and series alternatively

all_lgdh 2 LCurdEE D WSlanan st S6 enamdgin eramuenarer e @evamien Gn GeugmHin?
(A)  Eenammunsg
(B) Garuituns .
:
(C) Bl a&loaun Jareug) Llmm_nlensmTLum Eleaur
(D) gdim Blavamursaih i@ mirsnm Qamfenesiiarseayn
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108. Every Bank has to keep certain minimum cash balance with R.B.1. is called

(A) Variable Reserve Ratio ;
/8) Cash Reserve Ratio

(C) Cash Discount Ratio

(DY  Trade Discount Ratio

@pdu faren eumdullLn geubleuny euidluyb e @HLEI L dgrasamu Cyras G @mUIuns aeulig)

grevimy Gl
(A) iU smiy aldsibd
(B) Grrss smoy e0dsn

(C) Qyréss senenuy e94s0

(D) eSwrurrs sergpLg eSldsn

109. The Duty levied while transporting goods from state to state |

(A)  Export duty J(B)/ Octrol duty
(C) Customs duty (D) Import duty

Gty _asem wmleogHedlmi g wrbland Qarer® Gadeyd Gurg euglasiu@n eu

(A)  eppwdl el (B) marmmenp eufl
(C) &g e D) @ndwwd eufl

110. In Tamilnadu the centre for Stem Cell Research 1s located at

(A) Chennai (B) Coimbatore
)9) Vellore (D) Madurai

SUIPHTL 16 el Gad gurmisd Higeueand Db eTer @D erg;?
() Glosmena (B)Y  Gamubysgnm
(C)  CGeugnri (D) gy
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111. Consider the {ollowing statements :
Assertion The term “Lemuria” was first used by slater
Reason A submerged continent (Lemuria) where Tamils survived in pre-historic age
Now select vour answer according to the codes below :
{A) DBoth {A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and () are true but (R) 1s not the correct explanation of (A)
(C)  (A)is true but (R) is lalse
(DY  (A)is false but (R) is true

Eipdsar.. cunsdluniranerd seuafl&aeb :

Fai) : Qavepflum eremm eunidengenu (pgadlar 2 Cwirdlgseun evGearl_Lim
sngawrn UTRTDINEE ey are sdliphadr gablamarsaiul L sarigdla (GQoapiur)
QUITLRE S e T

aflwimen eflen_snwig CarmdsHaeyn.

(A spm obmub sigard &, sapnysheren ryen ipb aifl
(3)  saim wHmb srrard #fl. gabn&sTen &I Se )
(C)  sapm afl - &rpemTd Haumy

(D) smpm gaim — snjend &)

112. Which one of the following is correctly matched?
Officers of Village Administration in Epic Age called
(a) Dasagrami 1. 100 Villages
(b) Vimsatipa 10 Villages
(c) Satagrami 20 Villages
{d)  Adhipau 1000 Villages

e

(A) 3 4 1 2
/Bf 2 3 1 4
()] 1 3 2 A
(D) 4 1 2 3

EDQar(Has_Herereinnier erg sflwne Qummbgdlng ?

aneilw sresdle fymw flieuns odlardaed Spsaemsurn o@psalnl LTTSer

(a) sadlymd 1. 100 dlyrinmser
(b) ellbediun 2. 10 Slynwmigar
() ssaymdl 3. 20 dlgrwiuger
(d)y =dlud 4. 1000 Slymicmimar
(a) (b) (©) (d)
(A) 3 4 1 2
(B) 2 3 1 4
() 1 3 2 4
(D) 4 1 2 3
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113,

114.

115.

“Inam Ennum Eemap Punayaich Suduvathu — IKchu”?

(A) Sinam (3 Dhanam
(Cy Pakai (D) Nalal
“lElemid erenigniDd oI EnananUE sheug — erg)?

}\) Hawrd (B) sanbd
(C)  uems M) mas

Who 1s the first grammanrian in Sanskrit language?

(A) Vaalmeeki (B) Vivaasar
(C) Thandi )D'f Paanint
suLQwmfl Elasmen < AfumaEn e (pGEmeninwmeneu T wmt?

(A)  sumeuibdl (B)  &Swnarm
(©)  samy (D) Lmeles

Classify the ‘Ettuthokai, Noolkal in number as Akam, Puram and Akapuram

(A 3:3:2 ﬁ’) 5:2:1
€y 6:1:1 D) 4:4:0

L (h& Aarens mraseatiar aravraflGanseani s, LDW, SEUUDLD eTan eullanaiu[Biés)s.

(A) 3:3:2 (By 5:2:1

Gy 6:1:1 (D) 4:4:0
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116. Choose the correct ones :

The traditional Thanjavur Doll automatically rights itself even after it is pushed and tilted
around

(1) Tt has a very low center of gravity
(2) It has a rounded base

(3) It has high center of gravity

(4) [t has atlat base

(AY DBoth 1 and 2 are correct (B) Both 2 and 4 are correct

(C) Both 3 and 4 are correct (D) Both 1 and 2 are false

sfwnen eflam_eow Caipls

gEpanaLT senewn_y Gumbepweni gatallenmab smUSETEID Se Uanpw Flenavenil ienL.Slng)
(1) @iger yafwiTiy eowib gmpna Blenaulle o_drers)

(2) Sy LMED 2 (ham e

(3) e yelluSmiL entwnb 2 s Hleneulldy 2_emerg)

(1) o861 BIgUTHD LD LTS

/K() (1) vhmw (2) &A (B) (2) whmd (4) &7l
(C)  (3) womd (4) &l (DY (1) wHmb (2) geum

117. Which onc of the following statement is incorrect regarding nuclear fission?
(A) Tt is achain-reaction
(B)  Performed under controlled conditions

}ZS It takes place at a very high temperature

(DY Neutrons are emitted during the reaction

ECGip GarpasiulL eursdlumiseien e7g) igmisam Uery updl §.u D16 Sasune ShHSng?
(A @la @ akdld Qgr_relienen
(B) @soar s QUUESE Bapssamd
(C) G bs sfawrar GeuliuBeaudida pLadng
(D) @eualanan peo_GumibGurg Hluy gransdr Gleualleliuubid, g
v 35 VENI
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118,

Which is the correct statement?

I. Rainfall varies from place to place and time to time. It 1s thus the season occur.
II.  Temperature varies from place to place and time to time. It 1s thus the scasoen ocecur.

III.  Climate vavies from place to place and time to ttme. [t ts thus the season occur.

(A) T only (B) Tlonly

@ 111 only (D) TandIlonly

19,

aflumen eflent s Carm@s
I wen LeSiudle el appeugio @Gr wrdfurs Qaeroes QL sdbe 1D, srwssnE Srevib
CeumuBeugig Smyentin Lheu srunigan GErenmeus) @0,

[ Candudloee yeiinie oyem @ apopeaignd Gr wndilurs @aomnod GLsdbeg @b, srasdbe

&TeuLd CaumiLI(pens M@ SIIeurb Loy Sratsel GHTanmieig <&,

HI sreflesa yeblubfid e ppopeugin glr widlflurs Gdwmod Qusdibe @h b, armadins

sreoth Geu NUhicuEDHE STTRID LI SIMa AL | f:'.';_ﬂrr'n_“_najg,j gq,rf_u).
(A) Lo (b (B) Il w{Ho
W TLI il (s Dy T wbms I wd Guib

Choose the correct answer

Reason for 70% of coral reefs killed in Lakshadweep and Andaman islands.

‘@ Cilobal warming : Acid rain

Ozone layer depletion (D) Smog
sflwmen cllan wnug CarbGEa@asab
Gl _65 Sey wmn
(A)  zas Geulioiwnnn se (B =nlfle menip

(C)  glaran nbidE §ifia (D)  méal yms
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120.

121,

122.

Which one of the [ollowing 1s not permanent member of security council?
(A USA. A India
(C) France (O UK

EGup Qanésnul farareneusatics erm gadlu mrsdr swuulle Bopsr ey sri . cima?
(A)  oGwhssT B @nd i
{C) Apmenev (D) @rdonssg

Who was the Pionecr of Ballad 1in Tamil?

(A) Ottakuthar (B) Irattai Pulavar

(C)  Kalamega Pulavar S Pugazenthi Pulavar
SNPGRS LITLaNe (Lpatt(Sennmig I s (5 ESHSHGu T Wit

{A) @l dmasn B)  @olan Cigmanr

(C)  srerGuosiiymeuf (D) sCrmdin i jeaur

Match the following in correct answer :

(a) 07 1.  Periya Puranam
(b) 10 2. Kalampagam
(c) 18 3. Ula

(d) 63 4, Pillai Tamil

(a) {b) (@) (D

) 3 4 2 1
(B) 1 9 3 4
(C) 4 ] 2 3
) 2 3 4 1

ulguwed 1 ulquiad -2 6 Qummad. §Cip Qeriasiul Gerer @iiuiHamas Qauen(y aflumes
cllan_enuig \'_'Zr-»."[s@_,:.."_,';. ;

Lt e uCquien 11
(a) 07 1. Quiflwiyrasrio
) 10 2. sebusD
(c) 18 3. o_qum
(d) 63 4. Adremargsmip

(a) (b) () (d)

(A) 3 4 2 I
(B) 1 2 3 4
(C) 4 i 9 3
(D) 2 3 4 ]

37 VENI

[Turn over



123. Which of the following statement is not correct?

(A)
(B)
(C)
(D)

Metals are malleable and ductile

Metals are good conductors of heat and electricity

Metals are non-sonorous

Metals are hard with high melting points

Spésmamib smbnsatle orgl Fflwren s Hm e ?

(A)
(B)

P

(D)

2 ConshsameT S&LNGED, Sinnsebd wrhn GHagibd

2 Gerarigea Slnhg Wenal ghlwrsel, Geulngs gdurseyb Gawuau@demmen

o Geonaiman gl grhubissidldma

o Caramas diyaronaiane Ganb oifle o (mEHana 2 et wenm

124. Match the following correctly :

(a)
(b)
()
(d)
{e)

Column A

Chloroplast
Chromoplast
Leucoplast

Lysosome

Chromatin reticulum

(a) (b) (c)

A 3 4 2
(B) 3 2 5
(@ 3 5 1
() 5 1 3
Qurmsgs

U guien I
(a)  @CormGymSermav
(b)  @GunGomilenma
(c)  eblugsGamGanneni’.
(d)  eneCerCsmip
(©)  @ConCGiligen cuana
(a) (b) (c)

) 3 4 2
() 3 2 5
(C) 3 5 1
(D) 5 1 3

1.
2.
3.
4.
5.
(d) (e)
5 1
1 4
2 4
4 2
1.
2.
3.
4,
5.
(d) (e)
5 1
1 4
2 4
4 2
38

Column B

Nucleus
Tubers

Leaves
Flowers, fruits
Suicidal bags

U gwed 11
2 L &(f
£lipriig
Glenav
e, Serll

FHQErame oL




125. The life span of human thrombocyte is ————— - days/weeks.

(A) 5 -—9days (B) 2-3weeks

(C) 5-9weeks (D) 2-3days

walls @rés GGem_Gan” Haafle suTppier smeao TBITL_ GG/ GUITT B S &,
A) 9 — 9 mprsen (B  2-3 euaghumet

(C)  5-9 aungrivsen (D) 2-3mrledm

126. Consider the following statements :

(a) During respiration, oxygen 1s taken in and carbondioxide is given out.

(h)y  All the organisms are aercbes.

Of these
,(ﬁ') (a) alone 18 correct (B) (b) alone is correct
(C)  both arc correct (D) both are wrong

SpssamL cunbdlLbseneT &oue)

(a)  seundlgacilen Gung) S &endlane ST (N S5IE LA ferfa) (NI O SIS ENL . H,SEnen (B
Geuafllu@ in@Ama:.

(b)  memaisay 2 ulflaEnn &Tnm seundlaer.

G
(A)  (a) LB efl (B (b) vl e
(C)  @rem(HiCio &f (D) @rearBCo seumy

127. Biological control of mosquito larvae can be done by

/ﬂ{ Compusea and lepister fishes (B) Earthworm
{C)y  Snails (D) Tilapia

Qarasseiian anieurssamars s (HUHES LILeLRSSULHD 2 ullfladr —

(A} s Slun womn el Barser (B) e
(C) naosser (D) wCeliwr Senr
v 39 VENI
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128. Match List T and IT correctly and select your answer using the codes given below.

List I (Country) List IT (Parliament)
{(a) England 1.  Federal Assembly
(b) America 2. Pariiament
(¢) dJapan 3. Congress
(d) Switzerland - 4. Diet
Codes :

(a) (b) (c) (d)

(A) 4 2 3 1
/BS 2 3 4 1
(C) 2 3 1 !
(D) 4 2 1 3
ulgwed T-g uiigwe T-2 6 Qummad) ECp AanBssi heer gillGsemersd Camam 5fuman

ellanL_enuis Carbble(:

L igwidy T (mn(Rmer) viCaguaed I (L n@sioenmn)

(a) @ridlanbg 1. Quigs «xQsnleh
(b)  =Gofsar 2. LITT{ERLOGE D
() muuren 3. smadlgey
(d) sellsranbgy 4. Luwil
@O D

(a) (b) (c) (d)
(A) 4 2 3 1
(B) 2 3 4 1
(®) 2 3 1 4
(M) 4 2 1 3
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129. Match the following :

(a) Resumption of rent free tenure
(b} General services enlistment Act
(¢) Subsidiary Treaties

() Doctrine of Lapse

(a) (b) () ()

(A) 3 4 1 2
(B) 4 1 2 3
(o) 1 2 3 4
0} 2 3 4 1
Qunpsas :

(a) eumaren ble GSFenas &1 (.D
(b)  Gumngns uenflliuen & 5L ib
() gewewriuenL & HiD

(d)  mi(R GpsEb Gandans
() (b} (©) (d)

&8 3 4 ] 2
® 4 1 2 3
© 1 2 ) 4
(D) 2 3 4 1

BN

Lord Wellesley
Lord Dalheusie
Lord Bentinck

Lord Canning

QenaQevsed Siry
Lavamard] Gy
Qe g B Sl
amefli gy

130. Match List [ with List If correctly and select your answers using the codes given below :

List 1
(a) dJunakhan
by Kasimalik
(¢) Fareeth Khan
(d) Saleem

{a) (b) (c) (d)

(A) 2 ] 3 4
(B) 3 1 2 4
(©) 3 2 4 1
/ﬂ) 3 4 1 2

B

41

Fist 11

Shersha
Jahangy
Mohammad-bin-Thuglak

Kiyasudheen

VENI
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ulged I uligwe Terem Qurrsd §CGyp Gar@astul ferer giluiGamens Glardr® silwmen

ellenicowsd Carblls( :

(A)
(1)
(©
(D)

utig e [ utiguig [T

g0 Ll m e L Clagregn
sredloredls 2. memdo

ufgamen 3. pswg Y gisans
Fedib 4. Swursfen

(a) (b) (c) ()

2 1 3 4
3 1 2 4
3 2 4 1
3 4 1 2

131. Which one of the following texts shows us that “Sati” was practiced by the Aryans?

(a)
(b)
(c)
(d)
(A)
(©)

Rag Veda
Yajur Veda
Sama Veda

Atharva Veda

a B b

c )D)‘ d

apfluiaatli_b o L_eralen . gmid ULPESD @) (HHSHGI cTEIUEHE GTEET (LpeD BT SimidEGomb?

(a)
(b)
(©)
(d)
(A)
()

VENI

Mg Sausid

wigger Geupid

g Gaugld

Sl Sauan (Geugn

a (B) b
¢ (D) d



133.

134,

. ldentify the place where coral reefs are found in Tamilnadu

(AY  Gulfl of Kutch (B) Gulfof Mannar
() Lakshdewecp (Dy Nicobar island

SUNPBITL 19 60 LeUSTILITEDEET &Teor (b @l ib

(A sl&euenangn A)( LOGTTEITIT GUER @ (&I

(C) Gl as Saymer D) HECerurt Seyzer

“Karpukkadam Poonda Jththeivam Allathu Porputaith Theivam Yaam Kandilamaal” — Who
is referred in these lines?

(A)Y  Seethai (B) FKannagi
(C)y Madhavi (1)  Manimegalai
“apyssib geEn @§tlsilanb @ Quipyeals Gelaid wrb sargownrd’ - Ehg euflset

F_{Deug) wirepy?

A) Fas /(‘g) FetTamrd)
(C)  wngell (DY wellGlosama

Vezham, Pidi, Vengai, ey’ —

Choose the correct equivalent parallel meanings of these nouns,
(A) Singam, Yaanai, Puli, Vecsuthal
(B) Yaanai, Kaipatruthal, Pull, Adaithal
/© Yaanat, Penyaanai, uli, Mullam Pantri
(D) Vetn, Yaanail, Puli, Peruthal

“Gouptd, g, Geutians, erds” —

@UEuwis denhaersE Meaarune Qurmasaers gl Hanig,
(A) s, wraner, Yo, eiase

(B)  wrerar. enslinpmad, L6, en 56

(C)  wrenen, Guamurenen, 1160, apenarbuel

(D) Qeupll, wrenan, e, GumEs
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135, Genetic Engineering 1s employed in the production of

I Hormones
.  Enzymes
11I. Interferon

IV. Monoclonal antibodies

(A) Tand Il are correct, (B) Il and I1l ave correct

(Cy I, Hl and IV arec correct (D L IL I and TV are correct

w0 Burhlulwed Cawdn b Adwsmeistaibann o uigd Qalw wwenuhdng

I TG mssgeT
IT.  Gmrdlaen
11l

Ey b B o
UL L ITa Jdall e

V. CurtenngCarmaned opemig img e

(A Twdonn H af (B) I winmads T &4

() I H wamin IV gf y L 1L TH wipmin 1V afl

136. The percentage of Gold 1n 24d—carat gold 1s

(A 75% \JE(LIOO%

(C)  91.6% D) 50%
24 Cant siuasde o drer shuggfar saafnb

(A TH% (B) 100%

(C) 91.6% I 50%
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137. Match the List I with List TI and select the correct answer using the code given below the list

List ] List 11
{a) Venus 1. Ringed planet
(LY  Saturn 2. Red planet
(¢} Uranus 3. Spins slowly backward
(d) Mars 4. Rolling planct

(a) (h) (c) (d)

W) 3 1 1 2

(B) 3 1 2 4
(C) 1 3 2 4
) 2 4 1 3
viLiguied [-g udiqud -2 Cdn Qunmad) Gy Qar@asiul Gerer @hluimenen L (R&E &fluiren
cllgn_emug Caimbls |
ity | g ey 11
(a) Gleugei 1. GUENETTWIMBISHETL a2l Folg 1Lt Gusirem
(h) sail 2. Flanhm Camer
()  wCreren 3. earmnns spayn Carer
()  Dacueumi 4. o gptemih Gmrer
(a) (b) (e) (d)
(A) 3 1 1 g
(B) 3 1 2 4
() 1 3 2 4
(L) 2 4 I 3
v 45 VENI
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138. Read the following statements and choose the correct answer :

1.

(A)
(B)
(©)
(D)

The Neolithic period is followed by Chalcolithic period when Copper and Bronze came to
be used. '

The new technology of smelting metal ore 18 an important development.

1 and 2 are correct
1 is correct and 2 Is incorrect
1 and 2 are incorrect

1 is incorrect and 2 is correct

Spsllaras v (f e.eraramengamer Ui ggl, stlwner eflaL e Carey Glews.

1.

2.

ydw  sparesdlibe Gng  Geby  srab giemdwug.  Qsbuyb, Ggsamenu,

2 UGWIrEUURSSILLL g

L Gamdled mnlunran “2 (maEEL0 (pepd” ek (pEEIus suETTES LTS Siemorh ).

w Linpayn 2 sfhwiner sangy

(B)
(©)
(D)

1 ghiiren & oo WHOHID 2 Heu e Fubms
1 bpmid 2 seumiren s hmser

1 geupnen gaBn womn 2 sflwnes dnpm

139. Match List I with List I1 and select the correct answer using the codes given below the list.

(a)

()
(d)

List T — Rivers List Il — Water Falls
Cauvery 1.  Yenna

Sharavati 2. Sivasamudram
Mahabaleswar 3. Dhuandhar
Narmada 4.  Jog

(a) (b) () (d)

2 4 1 3
4 3 2 1
3 2 4 1
1 3 2 4
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uligwer T-g wlgquwe 1l-ocer Qumpgdl sflurer e eew Carblshss <ishHE apen o drer
@hd L auflenaliLi(Hids:

RN I o | ‘-"li_[{ilrish I_H_Lq_LLJGU iI - (r_%l'reﬁlzp&ﬁ
{a) arafilf 1, wIGETEmT

(b)  agrmaugd 2. Heusupsdiyh
(¢) waruGsheuyn 3. BGHST

(d) mhiwgn 4. Cgrs

(a) (b) (c) (d)

(A) 2 4 1 3
(13) 4 3 2 |
() 3 2 4 1
(D) 1 3 2 4

140. Which one of the following is a “Pathu Pattu” Book?
(A) Pathirtru Pathu (B) Paripadal
(C) Patina Palai (D) Purananuru
E1pausth B &EReT USgIT () B 6Tg)?

(A udbougs (B ufurié

mpqmuum@w (DY yomremm

141. How many varieties of flowers are mentioned in “IKurinjipattu”™?

(A) 96 By 92
) 99 (DY 90

GMErFALUT g eTdgenen cuans s GHlindr ol Hdrere?

(A 96 (B) 92
y‘ 99 (DY 90
o 47 VENI
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142, Which Epic was written with the worship of nature in the beginning?
(A) Valayapathi (B) Seevaga Cinthamani
(C) Silappathikaram (Iy Mani Megalai
Quinens eumnpsCan(® Gammdl ergpstQupm sl erg?
(A)  eumemwirid) (B) Fauzdbsmoant

\m SasVudesnyn (D) wanllGuosame

143. Where is ‘TPrakui’ language spoken?

(Ay Tamilnadu (B) Balusisthanam
{C) Rajmahal (D) Bihar

Hirmae ) erenm Cwem® Cuali L d) argl?

(A)  slipini(h M L@y Elavgianih
(C)  Gynguosme (D) Sanr

144. Assertion (A) : X-rays are not deflected by electric and magnetic fields.

Reason (R) : X-rays do not have charged particles.

(A (A)1s correct {(R) 1s wrong (B) {(A)1s wrong (R) is correct
(C)  (A) and (R) are wrong y)‘ (A) and (R) are correct
glantiy (A) o X-gdligen e whmbd &nbsl Lemgarm efewssiuBeiddame
smrerd (R) 1 X-sdrger demenLibd ibmeey.

(A) (A & (R) paugy B) (&) gam (R) &

() A womw (R) seum (D) (A) wpmib (R) &M
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145. Match List I with List II correctly and select your answer using the codes given below :

(a)
(b)
()
(d)

W

(B)
(©)
(D)

Tast 1

Amoeba
Paramaecium
Euglena

Plasmodium

(a) (b) (c)

3 4 2
4 3 i
1 2 3
4 2 1

1.
A
3.
4.
(d)

1

2

4

3

List 1T

spores
flagellum
pseudopodia

cilia

ulgwe [-m ulgwe [T-een Qur@ass G Aarpssiul Gearer ghluiRsamers Gansn® sflunar

ehlenamug Carblls( :
i wed |

(a)  bur

(b)  wurpS&up

(€)  wdeflemn

(d) YemnsvCGwmguid

Ll

(B)
()

L)

(a) (b) {c)

3 4 2
4 3 1
1 2 3
1 2 1

1.

2.

3.

4.

(d)

1
o
4
3

49

g I
avGumraeT
Hensuslenp
Curadl aravser

SaSluar
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146. Match the organs of UNO with their relative fields :

{(a) UNIFEM 1. Food and agriculture
(h) TAEA 2. Development of women
() UNFPA 3.  Atomic energy

(d)y FAO 4. Population

(a) (b) {c) (d)

S
S
[
[
—

(B) 3 4 2 1

() 2 1 3 4

(L) 2 1 4 3

z.60. seouilen Spsaan BmeuenhsCen b cuaubm ér Game g ewiinBamer Qumgnbs| s :
-

(a) UNIFEM 1. eemey wppw eSlasmuib

(by IAEA 2. Quenser wpan(Sanbmo

{¢©) UNFPA 3. <DIGETY) DDA

(d) FAO 4. pésd Qurens

{a) {b) {c) (d)

(A) 2 3 4 }
(B) 3 4 2 1
(C) 2 1 3 4
(D) 2 1 4 3
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147. 'The highest inflow of Foreign Direct Investment of India (FDI) comes from

{AYy USA (B3y UK
(Cy Singapore (DY Mauritius

OefAwreilan eypEiu Crirg (paal Sbssam aps smgdl@na idaswra uniudneg?
(A) USA (s@nflés medw prd)
(B) UK {mafiu urs)

(Cy  Amaligi

\W@wm‘?a@u_m

148. Which one of the following statement is wrong?
(A)  Great revolt took place during the period of Lord Canning
(BB) Census was taken duving the period of Lord Rippon
(Cy  Great Famine took place during the period of Lord Litton

() Tirst World War took place during the period of Lovd Karzon

FipaseameubBlay salmnam sabry ers)?

(A arefity Dy eyl SearasAa GumbLr L goul Lgy

(BY  Alwen Qg oyl Aesnans M nsaalamans saomstla Ly geussiul Ly
(C) el e Ry oyl dldaieuadids Gl | I@HELD G g

Ma;r’r%hr Gy ey Sasrsdle (pad o s BumT ghule 5

149, Which one of the following is correctly matched?

(a)  Amarasimman 1. Chinese Pilgrimage
{(b) Varaga Battar 2. Ayur Vedha
(cy  Dhanvanthiri 3. Dictionary
{(d) Fahivan 4. Sun, Barth
(a) (b) () (d)

{A) 4 2 3 1
(B) 3 2 1 4
® 1 3 2 4

\9& 3 1 2 )
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\Neimeu(moveraummIeT e1g) o flurs Quimsbs Slng?

(1) =mwrdlibpen 1. Sewt gngjeur
(b) euprsulLf 2. @yt Cagin
(c) seweundf 3. HHITE

(d) urdlwnrsn 4. L], @ iflwisi

(a) (b) (c) (d)

(A) 4 2 3 1
(B) 3 2 1 4
(@) 1 3 2 4
(D) 3 4 2 1

150, Which one of the following is correctly matched?
1.  Lion of Punjab — Lokamanyar

2. Swadeshi Movement — A.O. Hume

3. Bharathamatha Association — Nilakanta Bramachart
4.  Home Rule Movement - W.C. Bannerjee
-1 By 2

N D) 4

Sipagearsunia erg sflwrs Gummbaflmng?

1. ugnemSen Sriusib - Gaorsion et

2. &Gsdl Qussd - A.O. afyb

3. umpswren sED — Fasam . (Arogemd

4. gewen.: 4 @uissd — W.C. ureng]

Ay 1 B 2
)y 3 D) 4
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151. Consider the following statements :

2.

H* ion concentration is 0.001 m and pH valuc 3.

H" ion concentration is 0.01 m and pH value 1.

Which one of the statements given above 1s/are wrong?

T oy

(A)
(©

Sipsser aursShwiigenear seuaseanh :

1.

2.

CuGa o der sunsdlumsetilay ¢ranel geummens)?

(A)
(C)

(1) only
Both (1) and (2)

(D)

Neither (1) nor (2)

H" sunafubien Qadley 0.001 m erefla pI wdliy 3.
H" eweilufen Gabiay 0.01 m erefley pH oy 1.

(1) bl {ib
(1) whmnd (2)

152. Match the following :

(a) Mahatma Gandh

(b) Jawaharlal Nehru

(¢) Thomas Moore

(d) Dr. M. Varadharajan
(a) (b) (¢)

(A) 2 3 4

(B) 3 2 1

(C) 1 2 3

y 4 3 1

QuTmEs s

(a)  waTHOT STH

(b)  wmevamrard Crem

(€} sman epn

(d)  gpeneaul (1p. eurgymay
(a) (b) (c)

(A) 2 3 4

(B) 3 2 1

(®) 1 2 3

() 4 3 1

(d)

DO R M

(d)

O

[

(B)
(D)

bl

Ll

(2) 1l (Gib
(1) wimbd (2)-1b @levenay
Utopia
A.D. 2000
Discovery of India
My Experiments With Truth
o GmShwn
S 2000
@nahwimeSlen satr(piSin Uy
s Gemsene
VENI
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153. What is the use of Remote sensing satellites?
L. To guide ships.
1I. Estimation of crop yields.
II1. Used for radio and television.

IV.  To measure clouds.

(A)Y Tand]IV are correct VCB{’ Il 1s only correct

(C) Il and IV are correct (D) 1V is only correct

Qaneney ¢ wiie) Dawpens genem &Gametan LG oremen?
I slu&aeT euifl HL A5

Il eSeusmw 2 pugdlesuws wEnd

ML GreCur whmib Qgraaar_fuild nwer i na

V. Cosrisamas samsd_

(A) T wpms IV &l (B 1@ ol b af

(© T g IV a4 D) TV . Gib afl

154. Which of the following four major emerging economies called ‘BRIC™?

(A) Brazil, Russia, Indonesia, China
\w Brazil, Russia, India, China
(C) Brazil, Rumania, India, China

(DY Bangaladesh, Russia, India, China

ElpaaiT_ arkg Bren(E, euen(pd Qummeragmy priser BRIC srenm iempssiia(faimen?

(A)  GErde, peswn, @BCanGeandiun, Fanm
B)  GCrfla, pegwr, @ibdlur, Senr
() GGrAe, mGweflwir, @bSwr, Fanr

(D) urmserCuey, ragwm, @ nduwir, Fe
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155.

Antibodies collected from different organisms are used to get — - ype of

immunity.
(A)  Artificial, Aclive immunity Mf-‘xrtiﬁcial, Passive immunity
(C) Natural, Active immunity (D) Natural, Passive immunity

Qo e wiiflasefl Simee  (AAs5QsHEs0LCL Gfglfru@urr@ei‘r wallsmeE  Crmig shigdworsl
CurifRo @lg aealsuens sHUY (Wwenn?

(A)  Gewnamswrer, Cewudibleg Crimd gHy apamn

(B)  Glawnanmwren, whsoren Gumd ML (penn

(C)  @umpenswrear Qawedla Grmy SEHLIL penn

(D) @uimenawirar ipfaoTet Gurw HIL wpenm

5. Which one of the following vegetation is mostly found in the plateau regions of India?

1. Hill vegetation
1. Deciduous vegetation
[T1.  Desert vegetation

IV, Sunderbans

(A) Tonly 11 only

(C) T only (D) Both I and II

@inslu Sl sdlanrs sraminin sneumb
I. 10GRGS 4w TRIGET

I @eccowdn sreurrsen

M. ureparcuen sTaigrfiser

IV, agiinpfled srauymser

sGa Garhasiul L Gerpprfa eflura eila_emw CarbOs0 :

(AY T il (B) IT sl imir
(C) Tl w' (e (DY Twpmb I
35 VENI
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157.

Indian Citizenship is acquired by

(A) Birth and Registration
(I3) Nationalization and incorporation of a teritory

() Only by descent

w All are correct

158.

apsu Eeuflennep ereusmmy Aumemn?

(A)  Sou wood udleym epewrs
(B) Quhaswns opnb gGaeD o Hleoliurli Hepamalg (peaions
(C)  cubam auPulér b BHid

(D) Cuwmpsabiv senanggibd &

Match List [ with List Il correctly and select your answer using the codes given below :

List 1 List IT
(a) Thodou 1.  Jammu and Kashmir
) Dhokri 2. Bihar
(b
¢) Konkani 3. Assam
(c)
(d) Mythilt 4, Goa

(a) (b) (c) (d)

(A) 2 3 1 4

(©) 1 2 4 3

(D) 4 3 2 1
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vlgwer J-g ulgwd - d Quamasdl, G Gar@asiul arear GOlSHamaid Canasd el
eQenienig Con s

L gueb 1 uig o IT
(a) GurGun ‘ 1. @bap bomib snegi
by Cirs 2, Same
(¢) Warmgai 3. meErbd
(d) ewdd 4. Gaweur

(a) (b) {©) (d)

(A) 2 3 1 4
(B 3 1 4 2
(®)] 1 2 4 3
(D) 4 3 2 1
159. “Nerarum Kadaludutha Nelamadanthai Ezilozigum” — Which one of the following book

contain these Tamilthal Vazthu Padal?

(A) Thirukkural (1)  Tholkappiyam

(C)  Panchali Sapadham (T Manon Maniyam

By i Sy (hi5E, ,rl' DL hGE HE G apllanqp -:TJ.:-‘ — :S)Lé‘.s;f'-r'-':'i.. eurpgsl EIL LD ETeT R oty
(A Hadmmer (B)  anasminSiui

(€ wogpered LD yw.l SITETILO T 1D

160. Which one of the following cvents connected with 1857 revolt is correctly matehed?

1. Proclaimed as the Emperor of India during the revolt 1857 — Bahadur Shah IT
2. Kanpur was recaptured by — Commander Johnson
3. Hanged on charges of Rebelhion — Rani Lakshmi Bai
4. Onec of the lieutenants of Begums of Qudh — Tantia Tope
7 By 2
) 3 (D) 4
v 57 VENI
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1857 sesb WarL ruier hlapeymala Spssanm _eubildy eray efluima’ Cumm b o dlme?

1. 1857 sevagdlen GCung @nbswnellen @L;UI]’&UHEB <R SELI_LITT — @ITERTL_ILD LSSHT agm
2. smeiLyeny BemHid enslibilenTi — 196 ig ey sanudl saneie e

3. flenrFfluieo mHLL L FDars gnddadlu Lt — @rrent) soladl Limd

4. oCurgd Gusbseaien UanL & somwalrselle qmeut — srhdwn CanCu

a) 1 (B) 2

(C)y 3 oy 4

161. Which one of the following pair is correctly matched?

I Saranath

Buddha's birth place

1. Lumbini - Buddha got enlightenment
11T, Bodh Gaya — First Sermon

IV, Kusi Nagar - - Buddha's death place

Ay 1 (B 1II

() 1M VQE‘P v

SLpsQarHEs Ul Bereareun e erg) Wad aflwirs Qur@pbgidlng ?

{;l‘.‘_7

L enprg - ussT S Qb

II.  gblafl - LSS @hrand Qubm G
I1L l_4§§;8§luﬁ - (pseo Gunsenen

V. geflpesi - UsEt Qobs G

(A 1 By 11
() 111 ™ IV
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163.

164.

Consider the following table -

Year: 2008 2009 2010 2011

Sales (crores) : 15 25 32 54

The year in which the sales registered a sharp increase over that of the preceding yvear is

(A) 2008 (B) 2009
(©) 2010 (D) 2011

eiu(paasi. ZOID S L_Guanesicni &eamDd GaTens,

GU(HLLD : 2008 2009 2010 2011

ailmuener (Camgufler) © 15 25 32 ha

GTHS QHMLLD, “HHET (phenSi ahLSeosd ST gD ehlhuamen s o)) e gy T ARy 2
{A) 2008 (BY 2009

(©) 2010 1 2011

In an examination for every corrcet answer 2 marks are awarded for every wrong answer
4+ mark is reduced. If a student answer all 120 questions and secures 45 marks then the no. of

correct answered quastions is

W) 45 S

() 16 (D) 38

@ Gshelie @eutlomm afluren dimLde Goas® ndlCuesarsda cuprusuuiBfog. gaulerm
geumpnen ellent & 3 i oe @opssinNfng. g orameue mangg 120 aflermss@nden
eflepwafidgy 45 walibua@rsmar Doy fpren erafley, sflwig cilen wallas Slamsaailen arananiaomns

(A) 45 (B) 42
) 36 (L) 38

Bio-chemically significant enzymes are derived from

(A) macraobes Mmicrobcs

(C)y nsulin (I} proten

My

2 a5 A-Gauduured ape nmuildr sths erenenaid ANSEsHEFIL g0

(A)  CnsGrreue (3)  omoaCrrenusv
(©) @ensdlan (D) yosw
59 VENI
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165. IFind x in

5[9l6[84]

73 ]7]70

8|6l4]56

5 .'.\:|3 36

(A) 4 (By 7
) 9 (Dy 3
x @e ol sres

Ay 4 \,{g) 7

Gy 9 (D) 3

166. Choose the correct order of hierarchy in the classification of arumals :
(A) Class — genus — species — order (B) Onrder — species — class — genus

\y\ Class — order — genus — specles (D) Species - class — genus — order

cllanignsomer comaslinHGsID rpanpuile sfluirer Ligblene enwiienu 61 (pas :
(A) o — Blemb — Smddleans - euflens (B)  auflens - Apdnlemn - eu@iin - Hemd

(C)  eumiy - euflens — [Henb - ApinSeans (D) Andlland — el - Sanb - suflens

167. Right atrium of our heart receives blood from blood vessel.
(A) pulmonary vein M vena cavae
(C) aorta (I  pulmonary trunk
walld Giewgslen eue g oML «yenm ———————— @iqb6 HIand epeh @rs sngsug Gluimidlanms.
(A)  mevyulyd fang (B)  Qu@ésdlanyasar
(Cy  Qumisied (D)  menpuige apadlu sne
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168. Colloids play an important role in our daily life. Identify the colloid in which hquid is

dispersed in solid

w Curd (B} TIndian ink

(Cy Milk (D) Paint

T POEIGE GTELIG) B @ienpm eumpsile) Wsah apsdlugmond eumifas. SPETEn  asemIpL b

FeimosHeyer Areud aramiu@Edna

(A) (B)  GpSwer Grisds

(C) umen (D) Quulen

169. The largest tropical Savanna grass land are seen in

\ﬂ Australia (B) Africa
(C)  Asia () America

Wlaluphs sjwenoer_a seunes Lsbeual) aramiiuhag

(A) e dlCrellum B ofger

(C) = Hluwr (D) =2Qufssr

170. The chairman of the union public service commission is appointed by

M The President (B) The Prime Minister
(C) The Chief Minister (DY  The Governor
v Twusellument T reumenen Bl o o af neamied BwlEs iu@Enrr?
(N ByYwrss seaeuT (B) \Srzwo senwési
(C)  wsmennFen (D) auempa
L 61 VENI
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171. Which one of the following is not considered as a method of calculating National Income?

(A)  Product method (B) Income method

(Cy DBudget method (DY Expenditure method
“lemeumeu@TasHMIET 6 & Bl (i) eUHLOTaTEmNSE SamTadi(hb aflwuman (penn i eramy Cankhs@esayn?
(A) 2 pusd apenm (B)  eugmioman gpenm

M aurey Gleawey Sl apenp (Ll apenn) (D) Csaaflom wpem

172. Match the following Indian towns with their Industrial product.

(a) Ahmedabad 1.  Tea Processing

(b)Y  Kolkata 2, Cotton Textile Industry
{¢) Darjeeling 3. Glass Industry

(d) Firoza bad 4. Jute Industry

(a) (k) () ()

(A) 4 3 2 1
(B) 3 4 | 9
() 2 ] 3 4

2

4 1 3

VoL

Epsaam @hHu perrsener @eunGon @l Har fuemiw HarflosGarm® Qummegs :

(a)  siawsTLTE 1. Caufena) LigLu (DG 56
(b) CQardasgr 2 LEEFnEness Gmm e

(©  carglatid 3. sewrentmigs Gamipled

(dy @QCpnmrung 4. Femred Gigmbie

(a) (b) {c) (d)

(A 4 3 2 1
(B) 3 4 1 2
(C) 2 1 3 4
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173. A hemisphere and cone have equal bases and cqual height. Then their volumes be i the ratio

AN 2 (B)

1:2
(Cy 3:2 (D> 2:3

Qn e TEGaTETAp, SbUl 05 @iglusspd, @Gr swgpn QubBimondar eubildr sen
Slereymetian ol dab :

Ay 2:1 (B) 1:2
) 3:2 (D) 2:3

174, Match List I and List 1I and select the correct answer using the code given below the lists -

List 1 List T1
(a) Horn silver l. MgCO4.CaCOs
(b)y  Argentite 2. Ag(Cl
(c) DBauxite 3. AgS
{d) Dolomite 4. Al05.2H:0
Codes
(a) (b) () (d)
(A) 2 4 1 3
Ve 2 3 4 1
(©) 3 2 4 1
b)) 3 1 2 4

aufiices 1 wpmib euflens Ty RMwenpenp, DarBssiu. L gill@smer uwaRs8 sfiwns Quirsgs |

auficns | auflens 11
(a) enmien Heoeur 1. MgCQ3.CaCOs
(by  =rllgmenen. 2. AgCl
(¢)  unsensl_ 3. AgaS
(d) Gurevenwl 4. Al:02.2H20
@B hiser :
(a) (L) (c) (d)
(&) 2 4 1 3
(B) 2 3 4 1
(9] 3 2 4 1
(Ih 3 } 2 4
L 63 VENI
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175. Which one of the following is correctly matched?

(A) International Atomic Energy Agency | Geneva
(B3) International Labowr Organisation : Madrid, Spain
(C)  United Nations University : Japan

(D) World Tourism Organisation : Vienna

Epaamm_el bl era fluns Qurmbgfpa?
(A)  FiaGss emirsd) oennly  Aoaileur
(B)  zes GamPlorent ey - Guoenpi_, enbluule

\er\ wadn mrihsallan LOSMOESPED | DLITE

(D) 2ansnmeor cwaniny - afiuisoern

176. Energy is stored as which molecule in mitochondria so that it is known as ‘Energy Currency’ of
the ceil

L. Glucose

[I. Proteins

1 ATP
IV. ADP.
(A) TandII V{. Only 111
{Cy Only IV (I T1II and IV

o Hmed, Glenau(nh ehs ppavdamn eugelid ennl CLraramiliumeildy CawlssLuBfpg. Qg Geddian
SLDMEr BIEmTLILD eTani iU (BHlmg,.

L. &enaGaman

I urso

I ATP

Iv. ADP

(A) T womn Il & By Il wlGiosed
(Cy IV wl b &t (DY IIL wimn IV e
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177. Which one of the following districts where natural gas is available in Tamil Nadu?
(A) Trichy (By Salem

(C) Dharmapuri (D) Tanjore

SODHTL g6 aThS oreul LG8l Qubens arflenry) Hap&dlmg:?

(A Hmsh (B) Goard

(C)  smwoyd Mg@&ﬂgbfr

178. Island's of Pacific Ocean 1s called as “Ring of Fire” because —
Consider the statements
I Volecanic island’s are in large numbers.

II.  Majority of volcanoes are active.

Select the correct answer using the given codes :
{A) Tonly (B) [only

yBoth TandII (D) Nerther I nor 1

el Qumris elld o dren Sey sl L misenen “GRmuy suenemund’ eran Mmenp&RCnmd erllanadle
L aflwamoseperen $a)sam L kst grmamons 2 ieng).

II.  Qugburerer stiwanaasdt GewaLRin erflwanawsanT@n.

Qarpasin _Herar @Mui_eaL LweruBsh sflura elanceanus Carbos :

(A) Tl (B) Hwllw
(€ lTwpmw Il Dy T @oamotueamnrd IT
v 65
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179. The Consumer Protection Act 1986 — covers

(A) Goods and services relating to private sector only

(B) Goods and services relating to public sector only

(C) Goods and services relating to private public and cooperative sector
(D) Goods and services relating to Government only

mETGeunn urgisTULE §LWD 1986, agparang?
(A)  sewnt gieon #ribs Qurgser wHnn Csemeu QEmfrumen g,
(B)  <jss seon gning Qummer womb Geaney Qgm_Turers

\M’ 278, saflurm LHmW s Hme] genm sTihg Gurmer wHmw Caemen g _Tumerg
(D) sigartis Quogser wpmb CoameubsTeans

180. Match List [ with List 11 :

Tast I - States st 11 — Number of State Assembly Seats
(a) Andhra Pradesh 1. 140
(b) Karnataka 2. 234
{¢}y Tamil Nadu 3. 224
(d) Kerala 4. 294
(a) (b) (¢} (d)
VB! 3 2 1
(B) 2 3 4 1
(C) 4 3 1 2
(D) 1 3 4 2
Uigwe I ulinwe IT dunmgss -
uigwer I — wmfles oips uligied 11 — wrble @eneanier 2 gt e dans
(@) wsdy GrGsey 1 140
(by siprLesn 2. 234
() sblipsI®H 3 224
(d) Cayemn 4 294

(a) (b) (© (d)

(A) 4 3 9 1
(B) 2 3 4 1
(©) 4 3 1 2
(D) 1 3 4 2

VENI 66

—— e M




181.

/ m

182.

Match the following :

(a) Agro based industry 1.  Iron and Steel industry

o

(b) Farest based industry Television

{(c) Mineral based industry 3. Paper industry

(d) Electronic industry 4, Cotton textile industry
(a) (b} (©) (d)
4 3 1 2

(B) 4 2 1 3

(C) 1 3 4 2

(D} 1 4 3 2

Qumrms s :

(a) Geuennaiy #Tihg Ggmden 1. @mby. & Gemdinsrene

(b)  euend sdverg s snihs Ggmiday 2 Qareneasm &

() saflo euend aniths Gamfla 3. andlg e

(d) Aealluic dgmgdla 4 L(h&HS! 2penen

(a) (b) (c) (d)

(A) 4 3 1 2
(B) 4 2 1 3
(©) 1 3 4 2
) 1 4 3 2

Which one of the following articles prohibits the employment of children below the age of 14 in
any factory or mine?

W Article 23 (B) Article 24
(C) Article 21 A (D) Article 64

Spssar_eupmen ahs sirflueaniy sidubianiyg 14 euwgise ol ul L dyaitseer Qemfhsrme
wHmb &g Geumeaseila swidgeug s Aanwiinl_Gedrang

A) 98 23 B) o) 24
€) 9821 A D) 94 64
67 VENI
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183. Match List 1 with List IT correctly and select your answer using the codes given below :

List I Tast 11

(a) Pyrometer 1. Pressure of gases
(b) Lactometer 2. High temperature
(¢) Manometer 3. Intensity of light
(d) Photometer 4. Density of milk
Codes :

(a) (b) () (d)
(A) 4 3 1 9

) 2 4 1 3
© 2 4 3 1
(D) 3 4 2 1
uligusd [-m uligua -2 ar Qummgdl &G Qerfisstiul Gearer @oluibhamars Garar® siuran
eflen_enwig CommesH -
Ll gy g o 11

(a) euCGyrBl_m 1 eunysaeiion <pssw
(by emsGmdin 2.z Qauduflena
() GuGerm 5L 3. gafluien Gedley
(dy CGuriGLndBla 4. umadles 44
@O HeEe

(a) (b) (c) (d)
(A) 4 3 1 2
(B) 2 4 1 3
(C) 2 4 3 1
(D) 3 4 2 1

184. The price of a commodity becomes 16 times 1n a period of 4 years. The percentage increase per

year 1s
] 100 (B) 10
©) 60 (D) 20

s Quirmaflen efena 4 cummsafie 16 vLkstdng raflear, aumnHHr sseis 2 wiay
(A) 100 (B) 40
(¢ 60 Dy 20
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185. Green House cffect is due to increase in
L Carbon-di-oxide
II.  Nitrous oxide
[I. Methane

IV. Sulphur-di-oxide

MI 1s correct (B) Tand]Ilcorrect

(Cy 1, IT and III correct (D)  All are correct

Sleeu(meuaneupulen eTmen < anflli9en eflenenaura servanmy. e aflenenay HeoL Qumn?
I. SITITLIGH - 601 - 2y Henen (b

I anpl oy sy saman(h

I, B5Cgen

IV, gour-en-gpsaen(p

(A)  Twl @ s B) loppwn Il &0

(Cy L, 11 womwo 11T &) (D) ereeonid &

186. Optical fibres arve used as medium for telecommunications. It is made from

(A) dispersion glass (B) Nylon fibre
(Cy Thin copper wire Wlastic wire

Cgaflld@up  @epser  QaraaCund@elrssnm 2aTL_&1006 oA@wdlng). cuclenpaer ordledlmng
ST Es L HHDS eTermmmen

(A Sepyssiiul L s e (B) eporer Qapadr
(€ Quaedhu grdly wd (DY darrevgs Glenysar
v 69 VENI
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187. Match Column A with Column B.
Column A Column B
(a) Formicacid 1 Vinegar
(b} Acetic acid 2 Butter
(¢} Lactic acid 3. Redant
(d) Butyric acid 4 Mitk

(a) (b) (©) (d)

(A) 3 4 1 2

3 1 4 2
(&) 2 3 4 1
) 4 3 1 2

Feold ‘= Wemeupeuaneum ienan Filwins s ‘o'l 6n Qurmsss.

Sab " FeoLd ‘@
(a) wrmflE onbleown 1. el el et
(b))  =filgs sbleb 2. QeuamQenni
() enégsd siflaid 3. Fleuliy ermyiy
(d) Guwgis subeon 4. ure

(a) (b) (c) (d)

(A) 3 4 1 2
(B) 3 1 4 2
() 2 3 4 1
(D) 4 3 1 2

188. Match List I and II correctly and select your answer using the codes given below :
List I List [1

(a) De-Brogile 1.  E=mc?
(b) Heisenberg 2. Atomic theory
(¢) Einstein 3. Wave nature of particles
(d) Dalton 4. AH.APzi
4

(a) (b) (c) (d)

@ 2 3 1 4
B 2 1 3 4
\yf) 3 4 ] 2
(D) 3 4 2 1
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189.

190.

Qummsga : euans 1 wHmb 2 sMwng Gy cramsamer LwuaL @b GuTmEas.

susna 1 QUSRS 2
(a) 1g-QgrsGar 1. E = m¢?
by Gapwese Quis 2, Slem ECETETEn S
(¢)  spenaviean 3. geeflan sienauey
(d) wévem q AH AP 2 N

47z

(a) (b) (c) (d)

(A) 2 3 1 4
(B) 2 1 3 4
(C) 3 4 1 2
(D) 3 4 2 1

Which of the following is incorrectly matched?

(A) Rusting — Ferrous ion to ferric ion

(B) Decarboxylation — Removal of acid group
Combustion — Addition of hydrogen

(1)} Fermentation —~ Glucese to ethanol

Hemeumeuemeudbley QuTmbaTHS T8 ?

(A smmUlgssa - uigey swefl Quifls oweflurs bryga
(B) sriunsda Bés efiaman — oiblews Cam@gdeaw Ga@s

(C)  erflged - emani_rmeanars Gangge

(D)  QAmndlas ~ @ @hsCHTE 6THFETE 46 DTHSE

Inflation denotes the following situation

ﬂ Price level rises — money value falls

(B) Price level rises — money value rises
(Cy  Price level falls — money value falls

(D) Price level falls — money value rises

Lenel e SpsaeL. Beraenuid @blaeh

(A)  dienveund] o feyd — Lemgdicn whlly eSipadiun
(B)  ellaneveund) s wirrayd — LerTSEles WL 2 wra)b

(C)  eflenaveundl aiipgduyb — uanrgdlar ALY efipFduyin-
(D) efanweurdl alipsdlud - uawgdlen ndiing 2 wirayb

71
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19]1. Which metal will melt on palm of the hand?

V(Ki Mercury (B) Cold

(C) Gallium (D) Silver
2 aTETRIE&SLRR eusEGLELITE 2 (hE&d gL 2 Carsd ag?
(A)  ungrsn (B) asmsb
()  sredluid (D) Geuerad

192. Which one of the following rocks belongs to Sedimentary Rock?

(A) Basalt

‘ﬁ Limestone

(C) Marble

(D) Slate

Gar{RaEsuul(Gerer Limenn&etlcy, Ugs)uUmsnT euensanuld sTibhs Umenm aTg?
(A)  Lamen

(B) as@wewrmbyl Lnam

(Cy  uvelldi@s unonp

(D)  SCGe_

193. In the adjoining figure the arcs BD, have 4 and C as centres. Find the area of shaded portions.

14
C B
VAL
f!/I// e
B
f’,’, f’
147,
‘ ,”f
'd' ”1"”
LA
___.-”z”r:/
- =
D A
(A) 82 By 72

©) 42 P B
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Qar@asiulHerer L shHa sul L efleger BD-Sér enowiadr A npmw C erene, Bhpedi L Lgdullen

LU STERTS.

(A) 82 B 72
€y 42 (D) 84

194. Consider the following statements :

Assertion (A) : There are more female terracotta figurines than those of male in Indus Valley

Civilization.

Reason (R) : Women enjoyed a superior position in the Harappan age.

(A) Both (A) and (R) are true and (R) is the correct explanation for (A)

(B) Both {A) and (R) are true and (R) is not the correct explanation for (A)

\yn (A) is true, (R) is false

(D) (A) 1s false, (R)is true

Sp&aam gl unisansns: selefl :
aamm (A) . Sibg) solsuell prafs sGuolunemsefld opar o (reugens Sl Quar o (Heumss
DS EDTE DO S ETETET.

smyed (R) 0 enpiun sresdldo Quarset G Hleaudle GmbseT.

A (A) wpmib (R) Gran(in afl. Gogib (R) srenuig (A)-efih@ sAuinen eflanésibd
B) (A whgd (R) @ram@in =M. Cogus (R) eréng) (A)-efin, «fiuneas eflardasiodha
C) ) afl (R) seum

@) (A) geug. (R) &l

v ‘ 73 VENI
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195. Match List I and List IT correctly and select your answer using the codes given below :

List I
(a) Bauxite
(b) Galena
{¢) Pitch Blende
(d) Rutile
Codes :
(a) (b) (©)
") 3 4 2
\9”1 3 4 1
(C) 4 3 1
(D) 2 1 4

(d)

o

List 11

Uranium ' ¢
Titanium &
Aluminium: .

Lead | k

uiligue I ulgwe o e Qurpsd £Cp Qan@ssun_Gerer Ghluihsmens Carar® sfwmen

eemLanw Garpls(

L g uwie |
(a) unGemar
(b)  scSan
(€ 19 & Qarar
(d)  emepLéd
EIEHEGT

(2) (b) (c)
(A) 3 4 2
(B) 3 4 1
(&) 4 3 1
(D) 2 1 4

VENI
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(a) Service to Poor is service to God 1. Sri Narayana Guru

()  Suddhi Movement

-{c)  dJeeva Karunya

& e 1o

(d) Dharma Paribalana Yogam
(a) (b) (c) (d)

Ramalinga Vallalar
Vivekanandar

Swami Dhayananda Saraswathi

196. Match List T with List I correctly and select your answer using the codes given below :

uliquied T-g uligwa I o cer Qurmsd ECp QanpssiuBeaar gHluhsemeas Qonam® sfuner

(A) 2 3 1 4

(B) 2 4 1 3

(© 3 4 2 1

(D) 3 2 1 4

ellenLapg CamHE(h :

(a) wssar DaranCL wCasaen Qgmem (h 1. ulsromuest g

(b)  ssd Qussnd 2 EFmoedinig eudreram

(¢) Deu sm(memLIIbD 3. eSlCeuamanmsm

(d)  smoofluraer Gursn 4. geumd guranns Freveud

(@) (b) {c) (d)
{(A) 2

[ RN S C A e |
o I -

1
1
2
1

G0 o N

197. Which one of the following is correctly matched?

1. Atmiya Sabha - Oleott

2. Young Bengal Movement — Raja Ram Mohan Roy
3. Nirankarli Movement — Henry Vivian Derozio

4, Ghader Party — Lala Har Dyal

(A) 1 B 2

Gy 3 (D) 4

Sip&sam_summled gy sflwne Qunmbsidlng ?
1. sl Feni - osm

2. @lemd sumgner @SS — GgmeyrrTn Guraemymi

3. Arisrf Guesd — Ganenid eflefwer QL Grram

4. &nen &5 - emem enigule

(A) 1 By 2

() 3 A 4
75
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198. Who has written the Drama “Thanneer Thanneer'?

(A)
(B)
(©)

(D)

Komal Swaminathan
Bala Chandar

Anna Durai

Pammal Sambantha Mudhaliyar

‘Geem T Hemes T GTEND BTl & mnedles < Hfwm wini?

Y4

(©)

Garoed efrruS];r;rrg@bT

< GUUT G 1T 61

(B)

(D)

ITEOES I EN

UIDLDE FDUHS (LpHESIWITT

199. Match List I with List 1I correctly and select vour answer using the codes given below:

(a)
{b)
(c)

(d)

vl

(B}
(C)

(D)

VENI

Tast I

Veerama munivar
Kalduvel

G.U. Pope

Scegan Palku lyer

(a) (b) (©
2 3 4
1 3 4
3 4 1
2 4 3

1.
2.
3.
4.
(d)

1

2

2

1

76

List T1
Achupani
Safhuragarathi
Oppilakkanam

Translation of Tirukkural




g - vl T2 ar Qunmad). ECp Ger@ésiul_(Gearar @duihsmars Ganar( sdwurer

alleni_enwid Can s
ulgws utgwey J1
(a) elporapaieur 1. =faluent
(b) asra{H6euw 2. FHITSENTS
© eluy,. Gms 3. g@lLlwssen
(d)  Fsmen Lnéos gouim 4. 51@&(596%1 GomBlehwrdy

(a) (b) (c) (d)

(A) 2 3 4 1
®B) ! 3 4 2
(©) 3 4 1 2

(D) 2 4 3 1

. Where in Tamilnadu, a bench of the Madras High Court is situated?

{A) Chennai (B Coimbatore

(C) " Trichy \_MMadurai

SIpBILIg.e, Heenanat o Wil weansden Heaner orriiE enowICUDmETETE?

(A)  Qodnenen (B) Garwbysgm
(C)  Fmah : (D) DFIET
77

VENI

[Turn over



TNPSC, SBI, RRB, UPSC, SSC & More Exam Question Papers Visit: www.Tamilanguide.in

SPACE FOR ROUGH WORK

VENI 78 v



